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1. Find any equilibrium solutions, use calculus to find the y-intervals for which the
solutions are increasing/decreasing and concave up/down, then sketch a phase portrait.

y' = 25- y2
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2. Solve using separation of variables: d = sin(X)y2 + eX y2 ,~---------
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6. An amoeba population starts with 1000 amoeba and grows at a continuous rate of 6%
per year. 500 amoeba per year are removed from the population at a continuous rate.
Write an IVP(Le. include initial conditions with your DE)that models the population at
time t. DONOTSOLVE.

7. Solve: y" = (y')2
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8. Solve: y"'-3y"-4y'-30y=O
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Solve: y" -1Oy' +25y = 09.
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210. Solve: y" - 4y = x .
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